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T SO STERHIE TG M O Helftd TeTshaieheHR STaifehd e Yot Sieel aAret et
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.
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@B) IHIfERaeR fafeq Foean fafire Srite w1 FW (T a&) FIE.  TAGRARATRK TR aql
TR HITGER FHod hHH oA o HIUl HOITAT AW Hel 3R, 3™ A S d TR SHGARE
URF ST Shetes ¢ ahtegined omean FRoehRiT Uiy stvaeres Afufem-82" anier TgaiaR HiEms
FUAI Y o SNl A A Th T BRIEEET it/ e $99 U T9R WhEe deren e
I+ el

(9) TR ITUCTFHAE TN fafed Felelt 38 VUMM IHSANE & TITgRaeh] Ta:SeR THERETael
U TOHE GEE TR, A THRITRRISRY SIoaTgel SHEaRM SAT9ed STRURe -1 HHashrehs

oo 7@ 0 e R,
e, 201, TR A6 T HITATET DO Yold: Fa hel ?
1) @l EEe qeEd @ IvaEg faemrR
() ST T 1A W @ TS F TiREe
YN A 3w 4(3) TS U9 Hied T oW oTR. e W W™ SWC(3)" TR
I WAATA W36, 201 T S-wwi Q)" ® e oI SrEilhd e qrafe
STEYTH 3T

w201, D Q@ @ @

ST 95N TG ITAYRehdiel Ioish UeATal gl SaGhHih 81 R Waaden e
IUWFERRIT 1 1 FHRHIREIE Hafid gy quivYl Briftha w6 Qr@aral.  giehar wead
Tl IES ST amae.  Ifaet a1 vgsr 09 |res 1A

THAIHRTT GEATaAT § U6 3 T3

P.T.O.
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1. 19 1960 TR 3iAETd e 1 FHEAGR TR MM T[ora e ffidw
MIBEIERCICIEUINCIR
(1) Tora ReAfiEEsE sfae, 1960
(2) = - TR REiAREREE e, 1960
(3) RefmgeE =, 1961
(4) S REArH@ERE e, 1960

The official sanction was given to the creation of the State of Maharashtra and Gujarat
through the , which came into force from 1%t May 1960.
(1) Gujarat Reorganization Act, 1960

(2) Bombay - Gujarat Reorganization Act, 1960
(3) Reorganization Act, 1961
(4) Bombay Reorganization Act, 1960
2. 'TfeTHd feaFIROR T’ 0T T hel ?
(1) e Sifaen gl (2) forg Tt o
(3) AU g TN (4) . IR ATdSH

Who founded ‘Bahishkrit Hitkarini Sabha’ ?
(1) Mahatma Jotiba Phule (2) Vitthal Ramji Shinde
(3) Chattrapati Shahu Maharaj (4) Dr. Babasaheb Ambedkar

3. 'TFq freror TTg <t TMUAT IV et 2

(1) da fezs (2) TIdTE O STRERT

(3) T g (4) HHER S T
Who founded the ‘Rayat Shikshan Sanstha’ ?

(1) Lokmanya Tilak (2) Gopal Ganesh Agarkar
(3) Rajarshi Shahu (4) Karmveer Bhaurao Patil

4. Y3 faemdier=a ufged YR HerTe A |

(1) &3 dd 2) TS e
(3) @S feew (4) TRIME FRISH
Name the first Indian Vice-chancellor of Mumbai University :
(1) K.T. Telang (2) M.G. Ranade
(3) B.G.Tilak (4) Dadabhai Naoroji
5. ‘FYrE’ A1 HiHTleehr ‘v | hion fefeed 2
(1) Srwfeqaral (2) IS A
) fou s (4) dfea wEE
Who wrote the ‘Shatpatré (Hundred Letters) in weekly ‘Prabhakar’ ?
(1) Lokhitvadi (2) Balshastri Jambhekar
(3) S.M. Paranjape (4) Pandita Ramabai

P.T.O.
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6. ‘TS TH= 57T A U™ wi fefee.
(1) Tl H ) =Efd T
() . 9 et | (4) I TEERe A
‘Rise of Marathi Power” was written by .
(1) R.D. Karve (2)  Justice Ranade
(3) Dr. Bhau Daji Lad (4) Dr. Babasaheb Ambedkar
7.  vRamwde ufgel 999 S0 8 ?
(1) sfeg 2) T
() W= A 4) wud
Which was the first newspaper in India ?
(1) The Hindu (2) The Bengal Gazatte
(3) Madras - Mail (4) Kesari
8. ‘mars’ § Fraaetas i gE Hel.
(1) . SR g (2) TiATEAE FEATH
(3) foga TSt feie (4) oA AR
The periodical ‘Mooknayak’ was started by .
(1) Dr. Babasaheb Ambedkar (2) Gopalbaba Walangkar
(3) Vitthal Ramaji Shinde (4) Chhatrapati Shahu
9. A v (RS He@ HETTe: 0 8 ?
(1) SEAIE v (2) feamOTE <ogE
(3) . IW A Afea (4) dfed SaTEE 8
Who was the Founder of Planning Commission of Independent India ?
(1) Vallabhbhai Patel (2) Chintamanrao Deshmukh
(3) Dr. Ram Manohar Lohia (4) Pandit Jawaharlal Nehru
10. 'TAFCS TFHE AR WA STt & F% Frersed 2.
(1) THeH, Jaren o faarere (2) W9, SfaTen A gaTERie
() Y, fecedt onftn gren (4) ToATeTERE, Tetsnal AT gHEH
were chosen as centers to train soldiers in the use of ‘Enfield rifles’.
(1) Dum Dum, Ambala and Sialkot (2) Panipat, Ambala and Pathankot
(3) Barrackpur, Delhi and Dum Dum (4) Sialkot, Calcutta and Dum Dum
11, o @it freror el Tore <iof sheft ?
(1) e 9 v FS 2) T S
(3) HHAR AN R (4) TR Sifdsn $o

Hingane Female Educational Institute was founded by

(1) Maharshi Dhondo Keshav Karve (2)
(3) Karmaveer Bhaurao Patil 4)

Raghunath Dhondo Karve
Mahatma Jotiba Phule
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12. ‘YRare faamg’ S8 o el S
(1) I TS (2) fRiswTE S
(3) g 2miR (4) T S
Who is known as the ‘Grand old man of India’ ?
(1) Justice Ranade (2) Phirozshah Mehta
(3) Rabindranath Tagore (4) Dadabhai Naoroji
13. WRAKS Hald S Ahee] Sl o T 3718 ?
(1) JW YW (2) T TV
(@) fwr (4) f¥=m STA
Which state of India has the highest population density ?
(1) Uttar Pradesh (2) Madhya Pradesh
(3) Bihar (4) West Bengal
14. TERIERIE v UL ST Faid HS 3R ?
(1) et (2) e 3 W= (4) S
Which is the biggest National Park in Maharashtra ?
(1) Borivali (2) Navegaon (3) Pench (4) Tadoba
15. WERTMIE Haid S i« THeiel Tt Siv) ?
(1) Fom (2) (3) (4) TR
Which is the longest river in Maharashtra ?
(1) Krishna (2) Tapi (3) Narmada (4) Godavari
16. T RIS WAl Bie feet 3.
(1) HeE IR (2) =m
3) faygt (4) HeE SFR
is the smallest district in Maharashtra.
(1) Mumbai city (2) Thane
(3) Sindhudurg (4) Mumbai sub-urban
17. TRRILMA SivrE feeam ufee Teerl Qe hREM! SYRUAN Sl ?

(1) IR (2) Hel (3) SWHSTR 4 ™
In which district of Maharashtra the first co-operative sugar factory was established ?
(1) Kolhapur (2) Sangli (3) Ahmednagar (4) Pune

P.T.O.
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GRS W WY U e eeian femie g it ot
1) fa=R (2) UF=M ST (3) HERTZ 4) HS

is the only State in India having higher proportion of females than males :
(1) Bihar (2) West Bengal (3) Maharashtra  (4) Kerala

19.

forean aftoR= 3teasl STTIea USRI TS(HTHT ShIvhe 9Ie Shidm ?

1) Taurfa g 2) TSesfumrt

(@) focer uftug sty (4) T FEGR AfHR
The President of Zilla Parishad submits his resignation to whom ?
(1) Regional Commissioner (2) Collector

(3) Vice President of Zilla Parishad (4) Chief Executive Officer

20.

TR foregl o] & e afidl stfufrm 1961 =0 Siven saarad ‘ g9rdd gitdE WG
O AT AR 7

(1) HdH - 62 (2) heiH - 64 (3) hH - 57 (4) <hciH - 60
The provision for the ‘Panchayat Samiti’ is made in which article of Maharashtra Zilla

Parishad and Panchayat Samiti Act of 1961 ?
(1) Article - 62 (2) Article - 64 (3) Article - 57 (4) Article - 60

21.

IV T SEATH AR 99 21 967 18 Iuigdd =efauad oo TR,

(1) 57 = (2) 597 (3) eoe1=A (4) 63=A
Which constitutional amendment reduced voting age from 21 years to 18 ?
(1) 57t (2) 59th (3) 61 (4) 637

22.

" YRATT TTfe T AT Clleh e eI S fedre’ e o= gem whivft wiged ?
1) <SR ) IS AR

3) e fooA (4) < SR

Who introduced the thought that ‘Local self government as the basic training schools of
democracy’ in India ?

(1) Lord Mayo (2) Lord Mountbatten

(3) Lord Ripon (4) Lord Dalhousie

23.

T YERI=T ST S0 SgHar= STIeare SUATgN hig TRl 3 ?

2
(1) % @ 3 (3) % (4) ST TR AR

With what majority a sarpanch of the Gram Panchayat is removed from his office by no
confidence motion ?

1

(1) 5 (2) % 3) (4) none of the above
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24. HIVAT FAT SERATATY GarEd Qe RegiaRar sTraom=t age FI0ar e 318 2
1y 724 () 737 (3) 74 (4) 757
Which amendment of the constitution has made provision for the reservation for women
in Panchayat Samiti ?
(1) 72nd (2) 73d (3) 74th (4) 75th
25. RAY ToIE=A QO™ qa99d = TRAGERI Goxil Fell e,
(1) 24 (2) 42
(3) 43 4 44
The preamble to the constitution of India was amended for the first time by the
(1) 24t Amendment (2) 42" Amendment
(3) 43" Amendment (4) 44" Amendment
26. TENIENM ‘THGYE! qWE HIAAH IO T4 HL0A ATH ?
(1) 1960 (2) 1962 (3) 1965 (4) 1958
In which year provision for ‘Gramsabha’ was legally made in Maharashtra ?
(1) 1960 (2) 1962 (3) 1965 (4) 1958
27. 9gI% GRIAN faef-ieo TRaMed 9 .
(1) 25 SHER! 1947 (2) 15 SHART 1947
(3) 15 3R 1947 (4) 25 TR 1947
Most of the princely states were merged with India on
(1) 25t January 1947 (2) 15t January 1947
(3) 15t August 1947 (4) 25t August 1947
28. YR TAHE & 3.
(1) uiEd-t
(2 e
(3) <hIE YT UREdE 9 HEl THIIG IRgE
(4) I A
The Indian Constitution is
(1) Flexible
(2) Rigid
(3) Partly Flexible and Partly Rigid
(4) None of them
29. fieRr ofoe=a HIER 9EIE U stfues wiier fagd i 3d A
(1 1 2 7 3y 10 4 5
No member of Zilla Parishad can be elected on more than committees.
1 1 2 7 (3) 10 4 5

P.T.O.
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30. helten Tl oAy STl LIS I SRl BIUIR 3R,
1) T 1dE 2) THA 75 TR
(3) TV 65 TR 4) T 50 TR
As per the permission of Cabinet the President per month payment will be now
(1) Rs. 1 lakhs ) Rs. 75 thousand
(3) Rs. 65 thousand (4) Rs. 50 thousand

31. R Al YT WAl SR HIve STl Srater! S ?
(1) 3H-3A (2) HEA-1 (3) TH-3C (4) TIgE
The satellite image sent by shows the advancement of the south-west monsoon.
(1) INSAT - 3A (2) KALPANA -1 (3) INSAT -3C (4) EDUSAT

32. SIS O forgd STRT <TEATE.
(1) THEER S (2) ¥HIR St
() THW fohar iR sl 4) S Twe A
All the electric appliances in house are in :
(1) Series combination (2) Parallel combination

(3) Series or parallel combination (4) Neither of the above

33. Il STYT TAd S ST Wieiielish! v g1l Fmfor .
(1) O HlEHl & hlesvmle SISk
(2) UG FHST F TE! BRI T
(3) erritel oY foRdia ST whicew o SfuTeTEe
4) saeRite oy foRda el HieH 9 SR
Which are the substances produced on heating coal in insufficient supply of air :
(1) Charcoal and coal tar
(2) Charcoal and coal gas
(3) Coke and anthracite
(4) Coke and coal tar

34. ufgel TST AYOMET ICATHAT hIv el ?

(1) g IR (2) T i

() eMfsiE gaon (4) TSaE 9K

The first heart transplant operation was performed by :

(1) Louis Pasteur (2) Christian Bernard
(3) Hargobind Khorana (4) Edward Jenner
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35. Weiietyent UMl ST HITOTH Ao el ?
(1) = (2) YA 9fFF (3) TWIATWUA.  (4) U
Which one of the following is not Computer Language ?
(1) Cobol (2) Visual Basic (3) HTML (4) Netscape
36. TYfFE TAN T NG 3T,
(1) FE fgae e fTeRaet (2) S SEadE o
(3) TENIA o Yomett (4) THNTIE THaeat Yot
The modern society is based on .
(1) Views of a few intellectuals (2) Views of the people in a society
(3) Open system in the society (4) Closed system in the society
37. WCledsh! U Serdce o HehevaTehidl STevdeh e,
(1) T SHeraE 2) @, SETEE (3) % SeEe @) @ SaeE
Which one of the following Vitamins is essential for the coagulation of blood ?
(1) Vitamin A (2) Vitamin B,, (3) Vitamin K (4) Vitamin D
38. TR MU YTl feror ggat snyfehdon Uihael AR 315
(1) 4 snfer Sq (2) uH Infor Hepat
(3) foram smfon (4) AR & aTo BT
The educational system based on helps the process of modernization.
(1) Religion and Caste (2) Religion and Culture
(3) Science and Technology (4) Trade and Commerce
39. WA IR SIS STTF .
(1) wier - SRR (2) T HieS - T
(3) TAfEr - Wit (4) fon e - =Ey
Which one of the following is correctly matched ?
(1) Cholera — Bacteria (2) Common cold — Protozoa
(3) Malaria — Fungi (4) Ring worm — Virus
40, TATHS T TR STV & e TR
(1) o= (2) emfTRT 3) W (4) TSRS
A blood vessel that carries blood towards the heart is called .
(1) Artery (2) Arteriole (3) Vein (4) Spinal cord

P.T.O.
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41. GO LS e mfet A1 WA oo
(1) aifwt dagw (2) faggm =ifet Hagsw
(3) THREHIE Hagh 4) YuH HogH
In computers information on C. D. can be read with the help of
(1) Mechanical sensor (2) Electromechanical sensor
(3) Optical sensor (4) Magnetic sensor

42. 3Awur= (Mesan foan UEsY) SEela Siwe T O e e =t samd faclie Sd o1&,
I S i, Faeie 9 ¢

(1) e = Tl
(2) ¥ig T= H@r
(3)  STrea v

(4) Sredde A e

A small cotton bag containing silica gel is often found in the bottles of medicine in tablet or
powder form. This is due to the fact that the silica gel :

(1) Kills bacteria

(2) Kills germs

(3) Absorbs moisture

(4) Absorbs all the gases present in the container

43, TSR TIVIEE] S0 STHSHTS] A 8 ?

1) FHEA SRS () U T TEgRE

() Ul F wET SRS (4) TEGSHA

Which bi-products are generated when the candle burns .
(1) Carbon dioxide (2) Water and Hydrogen

(3) Water and Carbon dioxide (4) Hydrogen

44, WCEIUh! RV HRUMes A4, faega e swam, feft. fag@ e s/ yamom
ST ? .
(1) M Sra fagd 390 eI
) M faEa gEr fouem B Taeanw
() = S T w0 TS
@) T fohomed BR gt fommn faer o5 oo 2 STeen e

Which one of the following reason makes A. C. voltage more useful over D. C. voltage ?
(1) It contains more electrical energy

(2) Itis free from voltage fluctuation

(3) It's generation cost is less

(4) It can be transmitted over long distances
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45. Ereiades! SO e G g ?

1) e @) Fe (3) HIaTeE 4) T
Which of the following is not Magnetic ?
(1) TIron (2)  Nickel (8) Cobalt (4) Graphite

46. & T AR THA B AE; FRU
(1) T YO IO YU WS STEA
(2) TR YO YT A
(3) o (1) ftr (2) [ TR
@) = (1) efer (2) I I
Oil and water do not mix because .
(1)  Oil molecules are bigger than that of water
2) Molecules of water are polar

(
(3) (1) and (2) above statements are correct
(4) (1) and (2) above statements are wrong

47. S SHIrET RO IR YT 31 Haw.

(1) Tt (2) ferars (3) WIHICrSH (4) fFriGeiarsh
The branch of biology dealing with the study of cells is known as :
(1) Cytology (2) Histology (3) Psychology (4) Physiology

48. WENCIIH! HIUET AFIRTY AHES! YIATIYT TIR FL.
(1) offdifaes s (2) WEdeh o (3) QS s (4)  SIES S

Which of the following acids is manufactured using sawdust ?

(1) Oxalic acid (2) Citric acid (3) Aceticacid . (4) Butyric acid
49. WG Ciomdid 73 92k 3TeA.
(1) ke 3 dEe

(2) drEs, FEA g HHA

(3) wiftEm, e, fed | HreA

(@) frFa, wiftem, @A 3 STegfuftem

The main elements of the stainless steel are

(1) Nickel and Iron

(2) Iron, Carbon and Nickel

(3)  Chromium, Iron, Nickel and Carbon

(4) Nickel, Chromium, Carbon and Aluminium

P.T.O.
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50. oEiM R PEYSEEA R GReGIG
(1) T & (2) et o
(3) =-Terrm (4) 3T T
Ozone layer absorbs from Solar Light.
(1) Visible rays (2) Ultraviolet rays
(3) X-rays (4) Infrared rays
51. Weilerdsht v WY Sesie AERAGA F1 AEAA A,

(1) wee-faga afomm sftr e-fem

2) fervuiar st Ardsm@erEn fagia

(@) wEmE-forgd ity anftn TR fagia

(4) fortoieert smftr e1-fexon

Which of the following are the discoveries of Albert Einstein ?
(1) Photoelectric effect and X-ray

(2) Radioactivity and theory of relativity
(3) Photoelectric effect and theory of relativity
(4) Radioactivity and X-ray

52.

IRA TR ATHT fIhie HATTINIT <hiUfi shedTorehidt sl fqoara arof Jrtor wima qefervarardt
Tafamar A,

(1) vRa fmto I

(2) T U YSTR A IS
(3) WuUFHS U™ & A

(4) 3 smEme g

Which welfare scheme was launched by Ministry of Rural Development of Government
of India to supply drinking water for rural areas ?

53.

(1) Bharat Nirman Plan

(2) National Rural Employment Guarantee Scheme

(3) Pradhan Mantri Gram Sadak Yojana

(4) Indira Awaas Yojana

QAT SV I TG ?

(1) e s (2) B AS @) ol (4) Ja T
Which one of the following is not a compound ?

(1) Redlead (2) Black lead (3) Silica (4) Slaked lime
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54. SEATYe T YR HHEM IV FE Wehal HRO @A GET _ Fior dam.
(1) TR Tt (2) @@ Tl
(3) TR TRl 4) TS fwm
The bats are able to fly in dark since their wings produce
(1) ultraviolet rays (2) sound waves
(3) ultrasonic waves (4) infrared rays
55. e argEn Wi 92 HI0EI T,
(1) e (2 =_H (3) W (4) ¥
Which is the primary component of natural gas ?
(1) Methane (2) Butane (3) Propane (4) Ethane
56. Sifgeh TRIGR SMYfhIHtol Ut .
(1) wiERa aefau (2) Ffgwan afa
(3) JFIHEN Trefa (4) st HIvRE A
Modernisation on the intellectual level means .
(1) to increase literacy (2) to increase intelligence
(3) to increase knowledge level (4) none of the above
57. gemeiel ST NS0T HY ol ?
(1) ERTFF 2) WRF
@) W= @) ©r w¥EE
Moisture from the grapes is removed by appliance.
(1) Solar dryer (2) Solar cooker
(3) Solar panel (4) Solar concentrator
58. ‘T ¥ &IOIA it e
1) fam (2) ¥° &UUTEA
(3) YomTreT (4) RS
'Nag’ missile is used to destroy
(1) Aeroplane : (2) Enemy’s missile
(3) Tank (4) Ship
59. WL WY HIvl e ?
(1) s (Q wEwA 3) Afusr 4 =
Who invented LASER ?
(1) Gould (2) Edison (3) Napier (4 Newton
P.T.O.
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60. Iy Siredl o

(a) YUl e () Wfsam I FEHE

(b) gIES (i) Urfuem sfegfuftem wethe
€ & (iii) fse FEie

(d) TaTE Ee (iv) HieRIeTH FEME

@ ® © @

@) ) @ @ @)

) @) @ (@) (@)

@) @) (v) @) @

@ O @@ @) ()

Make proper pairing :

(a) Washing Soda (i) Sodium bi-carbonate

(b) Lime Stone (ii) Potassium Aluminium Sulphate
(c) Alum (i) Sodium Carbonate

(d) Baking Soda (iv) Calcium Carbonate

@ B (© (@
1 @ @) @) (@)
(2) () @@ (@v) (i)
(3) (i) (@v) (@) ()
@ @O @) @) (@)

61. MIRATAT 2004 - 09 =41 TRl AT HLUTST HIv[T S A ?
(1) STawen yHvra fat awefa
(2) SN ARG HRATA SHRaR] ST §HE L0
() vRarEt faia gue arfaa
(4) vRar=t Frafa ot s gue
What is the aim of Foreign Trade Policy of India, for 2004 - 09 ?
(1) to increase the export in proportion of import
(2) to double India’s percentage share in global trade
(3) to double India’s export
(4) to double India’s export and import

62. T AMTANS GieAeTdah! hivran YoM 2t ?

(1) sEEH= (2) vEER

@) T o= (4) arR! RO A
Which of the following effects will be due to deficit-financing ?
(1) Deflation (2) Inflation

(3) Increase in Export (4) None of these
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63. foma fAdene TaR FIAAT TR (base year) S0 3THTd ?

(1) i o (2) &

(B) Te= 99 (4) wER Ay

Which should be the base year for preparation of Price Index ?
(1) Inflation year (2) Depression year
(3) War year (4) Normal year

64. 2007 - 08 =N Hard ALAARITAR AGFAHS= FSATR=T ThH e ?
(1) 50,000 HIE T (2) 40,000 FVE T
(3) 60,000 F& T (4) 90,000 H& T

What is the amount of debt relief to farmers according to 2007 - 08 union budget
announcement ?

(1) Rs. 50,000 crore (2) Rs. 40,000 crore
(3) Rs. 60,000 crore (4) Rs. 90,000 crore
65. WRAr foira ST Srftentel AT L.

(1) SR AIf sTigae SR

(2) fosira "o anftr genyfa SR

(3) WL Tenyfd S it TYEd wigded Geie Yeryfd seiR
(4) U TSR A1 g SN

The Indian Financial Market classified into

(1) The Money Market and Capital market

The Financial Institutions and Securities Market

)
(3) Government Securities Market and Corporate Securities Market
) Primary Market and Secondary Market

66. WeieTde! Il Fa AFORTAET wraaresh defya s1e?

(1) =T HU (2) SEd 9re
@) fras sicemEs (4) Tt gd
Which of the following thing is related to Demand - pull - Inflation ?
(1) Reduction in tax (2) Increase of import
(3)  Surplus budget (4) All of these
67. 'S¥FCl SRATHR hifHTA’ ST HI0 T 2
(1) T (2) WL
(3) Tauy™ () foamst
Who remains the President of National Development Council ?
(1) President of India (2) Vice President of India
(3) Prime Minister (4) Finance Minister

P.T.O.
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68. TERTZIIG THY FHe &) 70% Faa amar S sl Suavma St S ?

1) 9 2) == (3) wIw (4) e
More than 70% irrigation capacity is utilised for which crops in Maharashtra ?
(1) Sugar cane (2) Tea (3) Coffee (4) Jute

69. 3T s IS el Go e 2

1y 1975 (2) 1971 (3) 1968 (4) 1969
When was Lead-Bank Scheme started ?
(1) 1975 (2) 1971 (3) 1968 (4) 1969

70. S fo9 STETRE 1Ay 0 e ?

(1) ¥R e 2) WL OTH GEl

(3) . 9. TReH (4) HI. 99

Who was the President of the 12t" Finance Commission ?

(1) T.R. Prasad (2) Prof. A. M. Khusaro
(3) Dr. C. Rangarajan (4) K.C. Pant

71.  MRAR A0 SO & fhHaardiel Saeer SR Heeh hivd 2
(1) ST TSR (2) L B
(3) @fs daren fhudida o (4) qer=n srefsom
Which is the demand pull factor responsible to rise in prices in India ?

(1) Fluctuations in output (2) Taxation
(3) Hike in oil prices (4) Deficit financing

72. e ol €. TS otsga wam A gEfaoel figeRy (Wea el glawr giad)

g ® frismran gfear <wifar,

1)  efar () TE-Tisfae (3) ARt (4) @R

Dr. A. P.]. Abdul Kalam has suggested PURA (Providing Urban Amenities in Rural Areas)
model for development, which is based on planning approach :

(1) Gandhian (2) Neo-Gandhian (3) Nehruvian (4) Socialistic

73. R $YAM lEeidl ST heel 9 ?

(1) 1949 (2) 1948 (3) 1966 4) 1991
When was Indian Rupee first devalued ?
(1) 1949 (2) 1948 (3) 1966 (4) 1991
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74.

19
& T ?
(1) e (2) @
(3) wERT (4) fowm@EmEE

Export Processing Zones have been converted into Special Economic Zones. Which one

of the following is not a SEZ ?

(1) Noida (2) Surat

(3) Vadodara (4) Vishakhapatnam
75. WRATSAT SereA1 GEEfie Ao HIeRES GIe e ShIumr B ?

(1) 1980 - 85 (2) 1990 - 95 (3) 1992 - 97 (4) 2002 - 07

Which of the following duration of the tenth five year plan of India ?

(1) 1980 - 85 (2) 1990 - 95 (3) 1992 - 97 (4) 2002 - 07
76. STed e 31 HAH A HIv S fafafo Hoam T o1 ?

(1) EHdH (2) TAEA TE T

(3) TS W& (4) TAITEH. FH

Which bank is merged in Oriental Bank of Commerce ?

(1) Times Bank (2) Global Trust Bank

(3) Indian Bank (4) HDFC Bank
77. e & 7.5% el Aften sheel e 2

(1) ¥ 2008 (2) ® 2005 (3) WHA 2004 (4) W= 2005

When inflation rate recorded above 7. 5 percent ?

(1) May 2008 (2) May 2005 (3) April 2004 (4) March 2005
78. WIEeTih] IV SUFASH] HFaTE UGUIRHIST Ed! e Tifadrd 2

(a) wESIfTR faawor Srerken

(b) ST WSE SRy o

(c) &a fohmct oareen

(d) wu fdaa @0

1) (@, () (9 2) (), (), (a)
) @ (), O (4) =@ wd

Which of the following measures indicate supply management to control inflation ?

(@) Public Distribution System
(b) Control over private trade in food grains
)

0

) The system of dual prices

P.T.O.

(
(d) Fixation of maximum price
1 @, () (o) 2) (b), (o), (a)
B) (d), (a), (b) (4) All above
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79. TR AQUIEIES! GIeIyah!, ol I T4 IROTHhRaE o1 ?

(1) T I TE 2) TIY FAAH L

(3) ITUY FAL a6 ) WS foaTon s |y 0

To control and monitor inflation, which one of the following measure is the most effective
one ?

(1) Increase Direct Taxes (2) Reduce Direct Taxes

(38) Increase Indirect Taxes (4) Set up Public Distribution System

80. g WHRA favy anfefer amren fAfifdi=h woon shear et ?

(1) 31 |/= 2000 (2) 31 =T 2001
(3) 31 W 2003 (4) 31 ¥d 2004
When Central Government announced setting up of SEZ :
(1) 31 March 2000 (2) 31 March 2001
(3) 31 March 2003 (4) 31 March 2004

81. WElcIdeh! IV T Frg TRHRSAT AR AT 2

1) ot =X

() b TRy

(3) Safads 9 Ul W igae YeameRid &Y
@) STUUFER Yo

Which of the following taxes belong to union list ?
(1) Sales tax

(2) Land revenue
(3

(

4)  Succession duty

Taxes on capital value of assets of individual and companies

82. TS TTYAT gl FE ?

(1) 1980 (2) 1981 (3) 1982 (4) 1983
When NABARD was established ?
(1) 1980 (2) 1981 (3) 1982 (4) 1983

83. YU T MU WIS SHUAER hivd] L ATHIA Sd -Tel ?

(1) 3T (2) <SoRfER (3) HUiHR @) =« wd
What is the tax that is not levied on charitable institutions and public companies ?
(1) Income Tax (2) Gift Tax (3) Wealth Tax (4)  All the above
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84. HITCHT e ASHAER BRI STUHH VAT SATerl Bl ?
(1) afies A (1966 - 69) (2) RN Goate A
() foad doenfis g (4) feeh dantier e
In which five year plan, priority was given to Green Revolution ?
(1)  Annual Plans (1966 - 69) (2) Sixth Five Year Plan
(3) Third Five Year Plan (4) First Five Year Plan
85. TfeeaaT e HUVER 23 W] hegl WIeR) el 2
(1) 1946 (2) 1947 (3) 1948 (4) 1949
When GATT was signed by 23 countries for the first time ?
(1) 1946 (2) 1947 (3) 1948 (4) 1949
86. W 1 TERN Hetia o7,
(1) ¥ (2) 3w @) iE =T (4)
‘SAFTA' is related to group.
(1) SAARC (2) OPEC (3) EU (4) ASEAN

87.

TR U Teiell WRATdel Ufgell SR sie <hivr ?

(1) &% 3w IEmn Q) V2 TF iE A
(3) U™ e 5 (4) AR THE AR
Which of the Commercial bank was first nationalized in India ?
(1) Bank of India (2) State Bank of India
(3) Punjab National Bank (4) None of these

88.

TR Sreriia Wifedt 901 € SR SrEishre SRR SR

(31) wRYgd 9 @

(F) wst g &

() UE IueTeel

et Hishfaeh Segi= AR HE&T A IW el

1 A+ 2 "I+ G) FA+® @) A+I+F
Following are the objectives of Government accounting to give the information
of .

(@) Revenue and expenditure

(b) Loans and deposits

(c) Cash availability

Select the correct answer using the codes given below :

(1) a+b 2) b+c B) a+c 4 a+b+c

P.T.O.
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89. WTHN T LS T fereR ST STam SAfor @ HeAad] HewNt SR g TS
AT Al FUH il .
(1) Fg3RT TEHR Hehl
) T o fawm S
(3) T WEHR dHl
(4) wnafie I Iq Hen
In the structure of co-operative credit are at the apex and act as a link between
Central Co-operative Bank and NABARD.
(1) Multi-purpose Co-operative Banks
(2) State Land Development Banks
(3) State Co-opearative Banks
(4) Primary Agricultural Credit Societies

90. TH e el BV b A ?
1) e
@) e meerd eEr) d%
(¢) He
(4) TEHRY W<t safor o fahr e

What is the bank that sanctions the long term loans ?

(1) NABARD
(2) District Central Co-operative Bank
(3) NAFED

(4) Co-operative Agriculture and Rural Development Bank

91. T 2003 - 04 TIeE TR i€t 3 e B
(1) 239 (2) 384 (3) 339 (4) 484
During 2003 - 04, the egg production of Maharashtra was crores.
(1) 239 (2) 384 (3) 339 (4) 484

92, VB HEAHS! WIHAIR! HIVRT ST IFHG L.

(1) omam fea (2) =AH dMA (3) 9 (4) SN
Which is the famous breed for mutton purpose in Goat ?
(1) Assam Hill (2) Black Bengal (3) Sanen (4) Angora
93. hEMEA U - 255 A1 A0 ST el 3.
(1) 20-227#H.  (2) 32-347H. (3) 27-287WAL (4) 36-38 WL
The staple length of cotton variety PA - 255 is mm.

(1) 20 -22 mm (2) 32-34mm 3) 27-28 mm (4) 36 -38 mm
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94. FSH VYA ol THUT UUATIHT HILROIO qroft girsre aArcien S fashramen
3IyErtt Ted.
(1) 10% 2) 1% (3) 5% (4) 15%
Out of the total water absorbed by a plant approximately water is used for
it's growth and development.
(1) 10% 2) 1% 3) 5% 4) 15%
95. ¢ VIRATIS Feficitet SISHTHY FHH! HIvare ST e HeF e,
(1) S FiazEm ) TR
(3) E=Em 4) WIS sEm
________ is the most important mean in decreasing unemployment in Indian
Agriculture.
(1) Large agro-industries (2) Cottage industries
(3) Small scale industries (4) Large industries
96. WAL WiTeysh! o fieh TEHarel S &5 3718,

(1) d STl dieh qgt (2) HYH MR Wk Tl

(3) SOR MU e qgdl (4) SR MG Ui g

In India, largest area is observed under which of the following cropping system :
(1) Rice based cropping system (2) Cotton based cropping system

(3) Sorgham based cropping system (4) Bajra based cropping system

97. & o0 TraafUenr=a FIedid QU STETEeR 371,
(1) = (2) Y AW
(3) WeRTE 4) HS
State is the leading in fruit crops in India.
(1) Punjab (2) Andhra Pradesh
(3) Maharashtra (4) Kerala
98, Al UL WIS HeATs TR 3caTeH fohel] 3718 ?

(1) 585 f&./%. (2) 950 f&./%. (3) 750 f&./%. (4) 1225 f%./%.
Recent, average productivity of oilseeds at National level is .
(1) 585 kg/ha (2) 950 kg/ha (3) 750 kg/ha (4) 1225 kg/ha

99.

AR it Weehill higel Shive Iu] e e ?

(1) 1804 (2) 1947 (3) 1904 (4) 1952
When the first cooperative act was passed in India ?
(1) 1804 (2) 1947 (3) 1904 (4) 1952

P.T.O.
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100. T TR Q.HI. TR USE Felten HieX aTof.

(1) 10 (2) 1000 (3) 100 (4) 10,000

One hectare centimeter water is equivalent to cubic meter water.

(1) 10 (2) 1000 (3) 100 (4) 10,000
101. TEd ™ W TEeATA FHRIS TSN,

(1) et (2) SrH @) f=® 4) "

Fruit cracking in pomegranate is due to deficiency.

(1) Calcium (2) Boron (3) Zinc (4) Iron
102. 99 1793 H&d SHHGRK! T&d S e T GE hedl.

1) g F () e TR

(3) e HiHarela (@) e R

The Zamindari System was introduced in Bengal in the year 1793 by

(1) Lord Curzon (2) Lord Dalhousie

(3) Lord Cornwallis (4) Lord Ripon

103, <A HIUAT SR ST & fiesdl 2

1) HAR () areHF (@) 3 (4) =6 S
Which breed of Goat produce very fine fibre ?
(1) Mohair (2) Pashmina (3) Angora (4) Black Bengal
104. I frer=l STEURTHI Afavaraid! fosiishan sheft STd & TEUTC.
(1) TRAfReReH (2) TR
(3) 3fdie w{ftRsTH (4) WEIWHIE
The germination of coffee is improved by seed treatment called as
(1) Scarification (2) Scalding
(3) Acid scarification (4) Stratification
105. TE=N gUMEN YoM T % 3TEd.
(1) 2.58 (2) 4.60 ~ (3) 3.58 (4) 5.23
Average protein content of cow milk is %.
(1) 2.58 (2) 4.60 (3) 3.58 (4) 5.23
106. TISNTE A1 Ferfusml g FeEHRoT FLCaGICH
1) &% ) e (3 femn (4) STEHH
Gladiolus flower is propagated generally through .
(1) Bulb (2) Suckers (3) Seed (4) Catting
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107. & foomed wferm yamo fofeft o2

(1) 12.8% (2) 21.0% (3) 15.5% (4) 25.5%

The protein content in Gram Seed is .

(1) 12.8% (2) 21.0% (3) 15.5% (4) 25.5%
108. GIACIIH I ST HATRHIS Teh Tedl TATT L.

(1) ®e (2) RS (3) T (4) e

Which among the following is not included in metamorphic rocks :

(1) Slate (2) Calcite (3) Marble (4) Granite
109. WA WaH IR g fagmoary 37 Hellfed HTaw.

(1) oA (2) eTomEE (3)  3TentH (4) ford

Development of seed by self pollination refers to .

(1) Appogamy (2) Appomisis (3) Autogamy (4) Syngamy
110. AR TSN Al TR STER] TR

(1) Fom (2) e (@) (4 T

In Maharashtra river has the highest number of basins.

(1) Krishna (2) Godavari (3) Tapi (4) Narmada
111, ML Ao St HiHd IREA ST,

(1) em x Tl 2) Tl x fem

(3) IHA x frem (4) STTERE x S G

The parents of hybrid Mallika mango are .

(1) Neelam x Dashheri (2) Dashheri X Neelam

(3) Alphanso X Neelam (4) Alphanso X Bengan palli
112, TH A % S0 Feaid Twe SiHtd e oo o TRUTATA.

(1) TF W& g5l (2) SriaRdieR ggat

(3) BF e ugdt (¢) Tawi= R

Growing a set of crops in a regular succession over the same field within a specified period
of time is . :

(1) Mono cropping (2) Inter cropping

(3) Double cropping (4) Crop rotation

113.

SR 24 Tohell TS 0.4 TR S| Fienre TR 3T8d, TR rEme! fae g wiehe
[ENIASIHSH

(1) 50 (2) 100 (3) 150 (4) 60

If 24 kg P,0O; is to be applied to a crop grown on 0.4 ha, the quantity of single super
phosphate required will be kg.

1) 50 (2) 100 (3) 150 (4) 60

P.T.O.
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114. foeren faamed ey TEH 3.
(1) 20-22 (2) 40-42 (3) 38-40 (4) 46-52
The oil content in Sesamum seed is %.
(1) 20-22 (2) 40-42 (3) 38-40 (4) 46-52
115. | 2005 - 06 |Ict, F 707 Hor Fd &3 e T Scarerdtel o feem % B,
(1) 124 (2) 155 3y 20.0 (4) 18.6
The share of agriculture and allied activities in the GSDP (Gross State Domestic Product)
was % during 2005 - 06.
(1) 124 (2) 15.5 (3) 20.0 (4) 18.6
116. TS R GO S8 (AR IR.3F) T&Ied 39 o
1) TEE (2) HH
(3) T feeed (4) YT
The Central Rice Research Institute (CRRI) Head Quarter is located at
(1) Hyderabad (2) Cuttack
(3) New Delhi (4) Bhuvaneshwar
117. GTcierishl SV §e dhil 9 RASES! Bid ATl
1) foeer qegedt 4 2) AR d%
(3) TS HE (4) o0« wd
Which of the following is not a direct source of agricultural credit to the farmers :
(1) DCC Bank (2) Commercial Bank
(3) Credit Co-operative Society (4) All the above
118. 'HRIEl’ Wehlrd T St A qaR el
1) = SamHLEfa O @) AgFf gl
(¢) uFfa T @) 3 dIFf. sEpen
‘Sahyadri’ rice hybrids were developed by .
(1) Dr.B.S. K. K. V. Dapoli (2) M. P.K V. Rahuri
(3) M. A. U. Parbhani (4) Dr. P.D. K. V. Akola
119. AGHEA FRAA V' STEHRTE! T IO TR T84 2
(1) Y& 9 2) fe=r AR 3) <Eit AR 4) TR
While ploughing field, which plough is responsible to open ‘V’ shaped furrow ?
(1) M.B. Plough (2) Disc Plough (3) Deshi Plough  (4) Ridger
120. HERTS TATHEN SIS T WRawET 3ar T IR
(1) 9.50 (2) 11.50 (3 9.75 (4) 12.50
In Maharashtra, average sugar recovery from Sugarcane is %.
(1) 9.50 (2) 11.50 3) 9.75 (4) 12.50
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27

Wellerien! S0 29 2004 =1 3iifeiuss We3mY Fala S 9 (medals) W hefid 2
(1) W () s (Us.A) (3) =F (4)
Which one of the following country won large number of medals in 2004 Olympic

Games ?
(1) Russia (2) U.S A (3) China (4) France

122.

TERIETS SATETeie S-S & TR &= g idl fohdl 286 JHT0T 3118 ?

(1) 20.13% (2) 21.40% (3) 22.20% (4) 23.66%
What is the percentage of land under forest with total land in Maharashtra ?

(1) 20.13% (2) 21.40% (3) 22.20% (4)y 23.66%

123.

T 2007 - 2008 A TS SIS g WHRA S FIehdt STER shetelt R snumeg
i va2 2
(1) T8wowazm (2) T80WaTA (3) %88 UM (4) T 7509l T

What minimum sugarcane support price was declared by Central Government for the
crushing season in the year 2007 - 2008 ?
(1) Rs. 810 per ton (2) Rs. 850 per ton (3) Rs. 885 per ton (4) Rs. 750 per ton

124. YRAN Y@ et ST 07 Td ?
(1) oed gfease (2) T egeel
(3) oo (4) A
Who is India’s Chief Information Commissioner ?
(1) Wajahat Habibullah (2) Faroque Abdullah
(3) Krishnamurthy (4) Jayapal Reddy
125. HIUH JEHIYT ‘TRG’ TR el S ?
(1) =y 2 T (3) s (4) fea
‘Sealing Wax’ is prepared by which tree ?
(1) Babhool (2) Kusum (3) Mango (4) Limb
126. 2010 TTeT=A1 TPt T8 Y ST FUIE JUR R
(1) (2) TR () feeeh (4) o
The Commonwealth Games in the year 2010 will be organised at .
(1) Karachi (2) Lahore (3) Delhi (4) Mumbai

127.

SCTASR Wit T 14 auiEreiiel Ger et sTHa fohd! ' sqaam’ 3 i’ TRE R
U] GHIEY el 3ATE ?

(1) 14-60 (2) 16-38 (3) 13-57 (4) 20-59
Children below 14 are kept away from how many dangerous ‘Business” and “Processes’
by Anti Child Labour Act ?

1) 14 - 60 (2) 16-38 (@) 13-57 (4) 20-59

P.T.O.
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128. YRARAT $2d FHeA HRFAE &7 3 IR,
(1) s, 2) <REEN e qUER FEEAn
(3) AR At (4) AT HIOAE A
The main objective of Family Welfare Programme in India is .
(1) disease control (2) to control population growth rate
(3) employment generation (4) none of the above
129. “A Tale of Two Cities” & FEa A1 G RN TEReIER SR 3.

130.

(1) —gark i SeA (2) e suftr 94w

(3) sl snfer Ak (4) T8 N AR

“A Tale of Two Cities” Novel state the fact in following two cities :

(1) New York and Bostan (2) London and Paris

(3) Tokyo and Yokohama (4) Dubai and Sharjah

QIS &1 STREJUTE SR AUTHUATEIE! THeedl hald H=i< Terd Y@ il ?
(1) . AR fi (2) TS Tl AR

(3) ¥E TR (4) G WEE A5

Who is the leader of group of Ministers appointed to find out possibility of reservations in
private sector ?

(1) Dr. Manmohan Singh (2) Gulab Nabi Azad

(3) Sharad Pawar (4) Lalu Prasad Yadav

131.

S 2005 AL 'R A1 WS AR HOAER §d) wervarl Frofa o T taen ?

(1) SR (2) ey

() FAlew (4) TEIR

Which State in India, has passed the act in June 2005 to prevent the use of word
‘Harijan’ ?

(1) Orissa (2) Tamil Nadu

(3) Karnataka (4) Madhya Pradesh

132.

WA BV T SSRIFTEAT SRS gohia 3.

(1) STaK Yeold HUQ L0

2) TEHE Jaaveede ey 3sfan

(3) WS S JaavE Srearat

(4) YESITS A TE: WSEEHT 6

Which one of the following is wrong with the policy of liberalization ?
(1) Reduction in the rate of import duty

(2) To abolish the restrictions on Foreign investments

)
(3) To promote the investment in the public sector
(4) Partial privatization of public sector units
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133. 9L HERTE TGE a1eaey v o1 ?
(1) TeTRs Fe Q) oo o
(3) T H (4) foremsiva e
Who is the President of Maharashtra State Assembly ?
(1) Babasaheb Kupekar (2) Arun Gujarathi
(3) Gopinath Mundhe (4) Shivajirao Deshmukh
134. T 2007 =0 ' 7T TGRSOl A A 3TA 2
1) FvE AW (2) THRY T
(3) T g (4) STETE S
Who was felicitated with ‘Janasthan Award’ for 2007 ?
(1) Keshav Meshram (2) Namdeo Dhasal
(3) Narayan Surve (4) Baburao Bagul
135. ‘T, 0, TRFen’ g wefn wevare! fd fEaw @ ?
(1) 458 (2) 459 (3) 460 (4) 461
How many days are required for 'INS Tarangini’ for going around the world ?
(1) 458 (2) 459 (3) 460 (4) 461
136, ‘ST ar W' & Telel WWgaeEa fAfed wva STt o1,
(1) 90°E 2y 0° (3) 90° W (4) 180°
“International Date Line” is fixed on following longitude :
(1) 90" E (2) ©0° (3) 90° W (4) 180°
137. 1 2006 =1 ‘ARAT feosh TR fosid o ?

(1) 8L it "JEe TR (2) Sl HEH A

(3) . AU AR (4) Bl 3T FRISHT
Who won the ‘Lokmanya Tilak Award’ for 2006 ?

(1) Dr. G. Madhavan Nayar (2) Dr. Kasturi Rangan
(3) Dr. Raghunath Mashelkar (4) Dr. Anil Kakodkar

138.

ek ferspTaren T egfervareRiian YA Tere SISult FHe 3TH1 Yot B 311, 1 WohedTd feheft
T THAHI SrSedl SUR 377ed ?

(1) 40 (2) 30 (3) 20 (4) 10

Efforts to interlink the rivers in India are being run to grow the economic development,
how many rivers have to interlink in this project ?

(1) 40 2) 30 3) 20 4) 10

P.T.O.
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Hag Wi Taedra fewea a et 15000 sishier dg=et

(1) 63t 2007 (2) 13t 2007 (3) 8 2007 (4) HR T
Index of BSE has touched to 15000 mark on this day :
(1) 6" July 2007  (2) 1%tJuly 2007  (3) 8™ June 2007 (4) Never touched

140, WRAT oG fawaian waw TR

(1) 140 2y 97 (3) 44 (4) 66

The Union List consist of subjects.

(1) 140 2 97 (3) 44 (4) 66
141, TR F&{d Wt TR, (HIV)/ TGH (AIDS) T4 2004 L IS el

(1) @) #ww (3) @ AfFn

Where was World's largest ever meet on HIV/AIDS held in 2004 ?

(1) London (2) Bangkok (3) New York (4) Tokyo
142. ‘faaTreE’ weRE viag faeer @ ?

(1) SEHEA () Sl (3) STER 4) fem

Which district in Maharashtra is famous for ‘Custard Apple’ ?

(1) Ahmednagar (2) Akola (3) Aurangabad (4) Nashik
143. STIhTEhTO RS <7 2

(1) e e faem = X0

(2) ST YHU F

(3) UM FEg faw

(4) IR tedemETd SMaE AfHaEAT e

What is Globalization ?

(1) No Global thinking

(2) To take round the Globe

(3) Selling goods abroad

(4) Integrating economy of a country with the world economy

144.

1y 25 @) 35 (3) 54 (4) 48

How many ‘Special Economic Zone’ for Maharashtra were finally approved by Central
Government ?

1) 25 @) 35 (3) 54 (4') 48
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145.

31
IV T AT AN S e G Teel 3Hd ?
(1) 3mEm (2) ITW UMW
(3) fearset yem (4) =R
In which State lot of people died because of Meningitis ?
(1) Assam (2) Uttar Pradesh
(3) Himachal Pradesh (4) Haryana

146.

Wi I gfaSay e 9aid S Siae! o ?

(1) diHes 2) W (3) S (4) TSR
Which of the following Dravidian language is largest numerically ?
(1) Tamil (2) Telugu (3) Kannada (4) Malayalam

147.

A 2006 =0 ey M widar RN’ o o ?

(1) TR R ) ¥ THA aRE

(3) A W (4) o Erea

Who won ‘Indira Gandhi Peace Award’ for the year 2006 ?

(1) Hamid Karzai (2) Sheikh Hasina Wazed
(3) Nawaz Sharif (4) Begum Khalida Zia

148.

st T fadaeRiota e frefavaraet o= fearh 3 srylea SdER e fhd
uieAl A ST 3R ?
1) 60T (2) 65 (@) 7594 (4) 8oTd

How many years should scheduled tribes and tribals live in forest for getting the benefits
of "Bill for Adivasi Rights’ ?

(1) 60 years (2) 65 years (3) 75 years (4) 80 years

149.

T fgen SR STeAayad At @, TSl A SRIER SHIvnE AU w0 ST ?
(1) ot sifee Qe (2) St T BugE

(3)  dirmdt S a=A (4) it fidsn =

Who is appointed as Chairperson of the National Commission for Women in succession
to Smt. P. Advani ?

(1) Smt. Ambika Soni (2) Smt. Najma Heptulla

(3) Smt. Jaya Bachchan (4) Smt. Girija Vyas

150.

14 = AFTAAS FaTd T8 TSR HI0 37 ?

(1) TEE e (2) W (3) TWE (4) SR g
Who is the youngest M. P. in the fourteenth Lok Sabha in India ?
(1) Rahul Gandhi (2) Sachin Pilot (3) Govinda (4) Umar Abdulla

P.T.O.
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151. e fooiean Fandran 37 e MUTINY 1 wsgren Had forat.
A B C D E F

O AN DO <O [>O=

M OoO0AdO = 2 o0 =A0

& oOoAOAO @ OoOA=A00

Study the following specific symbolic code and recognize the symbols of the word
MUTINY.

A B C D E F

O A OO O=

M oOoO0AO = 2 o0 =A0

G OoAOAO @ OA=A00

152, YeATE-2r= ST iUk S 33 ?

14 5 16
23@16 20@17 12@18
7 6 22
(1) 16 @) 17 3) 18 4) 19

Which number will be in the place of question mark ?

14 5 16
23@16 20@17 12@18
7 6 22

1) 16 2) 17 3) 18 4) 19

HST RIS ST / SPACE FOR ROUGH WORK
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153. ey Sigd wEta-er= SRt 9 iy fragq fo

T SRe A ;7

1) 3T (2) SHER G) # (4) W

Find out the pattern of relationship and choose the alternative.

March : October : June : ?

(1) August (2) January (3) May (4) November
154. wAfarean STt shiordt e aget ?

372639 : 171019 : : ? : 251623

(1) 261728 (2) 493546 (3) 493647 (4) 362534

Find out the number in place of Question Mark :

372639 : 171019 : : ? : 251623

(1) 261728 (2) 493546 (3) 493647 (4) 362534
155. LI 5 T Wes AR THGUE oA fehdt a8 ammtet ?

1 5 (2) 10 (3 15 4y 20

How many years will be required for an amount to be doubled when the rate of simple

interest is 5% per year ?

1y 5 (2) 10 3y 15 4) 20
156. KNOWLEDGE @ 1% 235697017 311 fefeet Sidl, € GLIDE = Hehdl HIvrl 2

(1) 19507 (2) 17407 (3) 19417 (4) 19407

If KNOWLEDGE is written as 235697017, then GLIDE is coded as .

(1) 19507 (2) 17407 (3) 19417 (4) 19407
157. TR 7 JBUN STGTTE I ?

HORRIBLE, CRUCIBLE, POSSIBLE, DISABLE.

(1) HORRIBLE (2) CRUCIBLE (3) POSSIBLE (4) DISABLE

Which of the following letter groups is not similar to others ?
HORRIBLE, CRUCIBLE, POSSIBLE, DISABLE.

(1) HORRIBLE  (2) CRUCIBLE  (3) POSSIBLE (4) DISABLE

Best Learning

HAT TS S / SPACE FOR ROUGH WORK

P.T.O.
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158. el TR R0 7 g1 feaiedn i vegimier day s Suifaq.

) o (0HO
& () o OO0

Which of the following Venn diagram correctly illustrates the reltionship among the given
three words ?

Doctor, Nurse, Human being,.

m 69 & (DO
@ () e 000

159, A= WA GRAa=T T AhTheg 25 a1 FoR ST SO Ahrehg 27 o <R AR, W o1 W
fodt 7ot amRa ?
(1) 54 (2 50 ‘ (3) 52 (4) 51
In a row of boys Sujeet’s number from one side is 25t and from the other side his number
is 27", How many boys are in a row ?

(1) 54 ) 50 @) 52 4) 51

160. ST 5=5, 6=10, 7=15, 8=20, 9=25 W 10="?

(1) 28 ) 38 @) 30 4) 35
If 5=5, 6=10, 7=15, 8=20, 9=25 then 10=2
1) 28 () 38 @) 30 4) 35

161. Gl fEoiesn TeIge 9IR weie! 99 W3 foell Ry Mecien 9= Sl getas oTR. ufewn
T YEMEd S WY SR, dre el fawn 9 Hien yemed oM 9§ 3wy YHERie M Ue

e,
1031019 : 12142130 : : 34364352 : ? |
(1) 45383947 (2) 45475463 (3) 45373039 (4) 45526154

In the following question four terms are given out of which one is missing term which is
replaced by the question mark. Whatever relationship exists between first and second
term, the same relationship exists between third and fourth term. Find out the missing

term :
1031019 : 12142130 : : 34364352 : ?
(1) 45383947 (2) 45475463 (3) 45373039 (4) 45526154

ST HIATATS ST / SPACE FOR ROUGH WORK
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T9T AT 162 FNFAIER SMERT 376, SFHaT [0 FE€7 [aaReiear Feardr Iue forel

Question No. 162. is related to venn diagram. Observe the figure and Answer the questions.
™ & /\ = Gujrathi
nﬁa*r : &= O => Marathi
ELE] & Q => English
f&dt = B => Hindi
162. ferelt SFeRil Werd SUSil Setdrd ?

3) 11 4) 15

1) 3 2) 8 @) 11 4) 15

FHEAT RIS AT / SPACE FOR ROUGH WORK

P.T.O.
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163. WeAfewsrea1 Sl 4 g4 fo.
84:124:172:?
(1) 228 (2) 192 (3) 249 (4) 290
Choose the correct alternative in place of question mark.

84 :124:172:?
(1) 228 (2) 192 (3) 249 (4) 290

164. TeAA GhaTal 1AM HEA ‘POWER’ T V=T Hendish 3Teat@l.
A B C D E F

O AN = O =
1) gOO0O=0w @ =00 =
G C=oowm @w wmwg=3>0

Study the following coding system and identify the code of word ‘POWER’.
A B C€C D E F

O A =0 0O =
H» go=0O=w 2 >C=00®r

G OC=0OoO0= @w =wo0=3o0

165. Geldl HifeThd 7 SJesUTRT SIS IV,
COLD, BOLD, FOLD, SEND, SOLD
(1) SOLD (2) SEND (3) BOLD (4) COLD
From the following series, find out the odd letter group.
COLD, BOLD, FOLD, SEND, SOLD
(1) SOLD (2) SEND (3) BOLD (4) COLD

Hol HAHE T / SPACE FOR ROUGH WORK
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166. SR BARK @1 3% 211811 3/ fafgen T CARD 1 95 %41 fotgred ?

(1) 11834 (2) 13841 (3) 31184 (4) 38411
If BARK is written as 211811, how will you write CARD ?
(1) 11834 (2) 13841 (3) 31184 (4) 38411

167. 36 BC &1 6 BC I W&l Wai¥l 31, T 49 ST <1 WeHeideh! Honsi 318 ?

(1) 7ST (2y 30T (3) 13ST 4) 5TS
36 BC is related to 6 BC then 49 ST is related to :
(1) 7ST (2) 30ST 3y 13ST 4 5Ts

168, SR + RUS YR, — BN X, + WS + d x U —

MW36x12+4+6+2-3=?

1y 2 ) 18 3) 42 4) 6=

If + means +, — means X, + means + and X means —, then :

36X12+4+6+2-3=2

1 2 2 18 (3) 42 4) 6=

169. SRAfergrean ST 4 94t frere.
9,14, 21, ?, 41, 54.
(1) 22 (2) 25 (3 27 4) 30
Choose the correct alternative in place of the question mark.
9,14, 21, ?, 41, 54.
(1) 22 (2) 25 3y 27 4) 30

FHoAT THTATETS SR / SPACE FOR ROUGH WORK

P.T.O.
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170. QRrd Hehdlal A H& ZJQPYP Y= Wish{ieh W e,

gw | L X | P Z]T|Y|  Q|M|N|B

Hha | b | a | e | s |p| r | h|i]|g]t

(1) sphere (2) thrown (3) sought (4) special
Using given code identify the meaning of the word Z]JQPYP.

Lletters | L | X | P} Z | ] Y Q| M| N| B

Codes | b | a|e| s |p|r|h|i]| g]t

(1) sphere (2) thrown (3) sought (4) special

171. TAT=N A6 A 99 32 94 B, UM 99! A 99 e Jors gare fawe 2.
TEUM i TSl a hIvwd 2
(1) oWaN 43 99 9 ga 11 9 (2) STAM™ 37 98 § W 5 99
(3) SN 43 A4 A A 16 A4 (4) AN 47 99 F A 11 9§

The age of Anant at the time of birth of his son was 32 years. After 5 years his age will be
three times of the age of his son. Find today’s ages of Anant and son.

(1) Anant 43 years, son 11 years (2) Anant 37 years, son 5 years
(3) Anant 43 years, son 16 years (4) Anant 47 years, son 11 years

172. R HIUETEN F1 Ted, FTE Ao e, HisWel 36 e 9 IS TMed el | JEHH
IO IV ST ? |
(1) W™ (2) R ) (4) 3N

If man is labelled as dog, dog as cat, cat as mouse and mouse is labelled as donkey, then
who is the most intelligent animal ?

(1) Man (2) Cat (3) Dog (4) Mouse

oAl HITTHIS ST / SPACE FOR ROUGH WORK
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173. SOUTH, NORTH, EAST, WEST ¥ 9R V5% Ua! Hishfas 3w fafedt 31Ra & ™" Shargar

HORSE & 915 &4 fofered ?

SOUTH = 53566 NORTH = 43736

EAST = 8054 WEST = 8859

(1) 42684 (2) 71635 (3) 63758 (4) 46785

The four words SOUTH, NORTH, EAST and WEST are written in the specific coding,
write the same specific coding for the word HORSE :

SOUTH = 53566 NORTH = 43736
EAST = 8054 WEST = 8859
(1) 42684 2) 71635 3) 63758 (4) 46785

174. U Gih{dh 9NG DEAR & Wk UTXG 319 fafead & g HhaigeR TIGK 1 I8 69l

fefeen sméer ?

(1) EPRN (2) REPN (3) EPNR (4) NRPE

If DEAR is coded as UTXG in a specific code, then how will TIGK be written in a same
code ?

(1) EPRN (2) REPN (3) EPNR (4) NRPE

175. AT BI&I 39, M &1 A Y& 39, G ST M Y& 39, Y o §aid 39 TR, W 9=l gord Hed T4
FIV 3T ?

1 M 2 G @) A 4 B

A is taller than B, M is taller than A, G is taller than M. Y is tallest among all. So, in
comparison of height, who will be in the middle position ?

1) M 2 G 3 A 4 B

HoeT RIS SR / SPACE FOR ROUGH WORK

P.T.O.
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176. Qi e g Aom fram frae.
105, 126, 149, 174, 201
(1) THER W& T 6 e,
2) AR faumamien v AIF 4, 5, 6, 7, 8 THese.
(3) THWAR WA TG AHY 9, 8, 7, 6, 5 THosH.
(4) HUAR FEATA qia 5 .
Choose the rule by which the given group of numbers is formed.
105, 126, 149, 174, 201
(1) By adding 6 to the square of the consecutive numbers.
(2) By adding 4, 5, 6, 7, 8 respectively to the square of consecutive odd numbers.
(3) By adding9, 8, 7, 6, 5 respectively to consecutive numbers.

(4) By adding 5 to the square of consecutive numbers.

177. Iee geia fEdien 9R Speimed Sidt HE foeea oRd, AR AR sl & el
e gresaTa w1 W ARt W Fem wied AR 2 qEieent e A SEuIRt STt 9 ?

/1| 2\ dBb /4 |5\ (3|5
v A o ry G B vy 7R C R ey

In the following question, four figures are given with certain numbers arranged in a peculiar

manner. Out of four, three figures follow a rule. Find out the odd figure which does not
follow the rules.

\&]3/ \s [4/ \e |7/ AEY

. 178, TSUA@ 4.30 T oed. SR fufe w1 T fem <uffar @ o #en wiow fam greae ?

1) W (2) A=A (3) g 4) =

A watch reads 4.30. If the minute hand points East, in what direction will the hour hand
point ?

(1) North (2) North West (3) South East (4) North East

HEAT HIATS AR / SPACE FOR ROUGH WORK
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179. SR % TN +, 0 RIS X, A BN — § 0 BN + T,
80403 %7A3="?
1y 13 (2) 17 (3) 10 4) 21
If ¥is +,0is X, Ais —, @ is + then,
80403 %7A3="?
1y 13 (2) 17 (3) 10 4) 21

180. W¥fegreal foehrult 9ra w4 hiorar ?
faera : g 2 M3 : ?
1 (2) EIH @) ¥ 4) THiCH
What is the proper alternative at the place of question mark ?
Melt : Liquid : : Freeze : ?

(1) Ice (2) Condense (3) Solid (4) Crystal
181. &= 997 MifaR fe. 4 A<sR 1993 & Zew, | fa=n fagw aefeag 1 B,
(1) FEER (2) TEAR (3) WTHER (4) IER

Sharvari was born on Saturday, 4th September 1993. Then, her third birthday was on

(1) Wednesday (2) Thursday (3) Tuesday (4) Monday

182. WIClicieh! IV et fagTa o1 ?

Odd man out :

FHoeAT HIUTAS! 9RT / SPACE FOR ROUGH WORK

P.T.O.
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183. i TR 1, 2, 3, 4 Yl UK AFdt AdA § 3Hesa.

T s I
BEEEEE

(A) (B) © D)

@ [T, @ |7y @ |=,= @ |7,

Select missing figure from answer figures :

I I ) Il
(A) (8) © (D)

184. 50 HieX W= HUSA IS 5 T FHIUS HIA I A T o FHIUS Ui Hraren &t fgad
AN ?

1) 10 @) 9 @) 11 4) 12

From the bundle of 50 meter cloth every day 5 meter cloth is cut. How many days will be
required to complete this job.

1) 10 @) 9 3) 11 4) 12

AT RIS ST / SPACE FOR ROUGH WORK
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185. 3TSTT R YFHAR STHIY NG fRagHat Hiven ar 38 ?
(1) ¥R (2) WA (@) wiHER @) a=w
If today is friday, after twentyforth day, which day will come ?

(1) Monday (2) Tuesday (3) Saturday (4) Sunday

186. Hishfds 9™ MAN=NBO T WOMAN = ?
(1) NPBOY (2) NOPBY (3) XPNBO (4) PBOXN
If MAN is coded as NBO, then WOMAN = ?

(1) NPBOY (2) NOPBY (3) XPNBO (4) PBOXN

187. Greiearish! fadwa snepdl Siesa

o (&) 0 &) w6 0| &

Odd man out :

0 &) @& e lEy 0 ©

ool SRIATATS AT / SPACE FOR ROUGH WORK

P.T.O.
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188. oI faqM aTiier foreneatt qraaciel wHieRaatd Tee 37 Apdmed et 1R,

(B) Hfswa (C) sifirpe=

(1) sRFaftn g Afewa= sTere Taum fammedt

(2) It T sffimreaEt stae s formeft

() sfefreftn, Afewa 9 firhea=l e staom fammeft
(4) Hiewha g iRl sTae sTauR fornedt

The students of science class showed their career interest as in venn diagram.

(A) Engineering (B) Medical (C) Agriculture
Shaded area shows :

(1) Students having interest in Engineering and Medical

2)
(3) Students having interest in Engineering, Medical and Agriculture
(4) Students having interest in Medical and Agriculture

Students having interest in Engineering and Agriculture

189. T 9 Yol Iie foamg YERaR TS 18/1/1980 TSt vem. X oS} o= Aefearsnen & g
ATl ST, T Siefeod HHar fhal Juardt s/ T d Haelien S v . Jeid <8l
JuTq T Aefeael fohdl Jeal i WeelTe Sl GO AT 2
1) 4 2 3 @ 2 4) 5
Sanjay and Sujata were married on Friday 18/1/1980. Each year they decided to go to a
picnic spot on the day of their marriage anniversary. However, they can not go if the

anniversary falls on a Monday or a Wednesday. During the next ten years, how many
times they will not be able to go for picnic ?

(1) 4 2) 3 @) 2 4 5

oAl RIATEIS! AR / SPACE FOR ROUGH WORK

Best Learning Plateform for MPSC Visit - www.mpsconlineacademy.com g-Learning Plateform




SMS 45

190. ‘ADMINISTRATOR’ a1 WigTd & fehan iftesrdes areielt 316X shIvr ?
1) ALR (2) AR B) MN,T @) ALTR

Which are the alphabets that come twice or more than twice in the word
‘ADMINISTRATOR’ ?

1) ALR 2 AR 3) MN,T 4 ALTR

191. faoican e Afeishrd 8 FaX 18 el 9 Ada ?
818881881811818181881888111818181181881

1y 9 (2) 10 3 11 4) 8
In a given number series, how many times there are 18 after 8 ?

818881881811818181881888111818181181881
1 9 @) 10 @) 11 4) 8

192, RN : feaq . WA : ?

1) 9 (2) wfem 3) fafwe (4) @&T
If year : day then hour : ?
(1) Hour (2) Month (3) Minute (4) Second

193. TH T 25% T MO, T 37% Tl SUsid S0l gelt. 13% el 31 Qe v Sl et
T et <ok Rt a1 Q4 fawama orwiof st 2 |
1) 49% Q) 41% (B) 51% 4) 25%

In one class 25% boys in Mathematics and 37% boys in English are passed. Among them
13% boys are passed in both the subjects.

Find out how many percent of boys failed in both the subjects.
(1) 49% (2) 41% 3) 51% (4) 25%

194. EIa Sreamdie fadma Sl siiesan.

(1) 41-29 (2) 47-59 (3) 57-69 (4) 73-61
Find out odd one out from the given pairs.
(1) 41-29 (2) 47-59 (3) 57-69 4) 73-61

el SRTHTETS! ST / SPACE FOR ROUGH WORK

P.T.O.
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79T 195 3T 196 GG SATATAR IEMRT 3. dF HIBdAIgaas arem T fremeear
gFTel 3¢ em.

Q. No. 195 and 196 is related to following para. Read it carefully and answer the
questions.

‘55, SHIV, I & FIGHT Seq, ¥V, [T, SR & URgH g, faRv |g ST v
SRR 3IE4. Y], ST S0 31 & Qaarg amea, !

“Chandra, Akash, Bhushan are clever. Dhanesh, Viresh, Akash are hard workers. Viresh,
Chandra, Dhanesh are honest. Bhushan Akash, Viresh are player”.

Then,
195. WElciish! v Weag e ?
(1) TR, YU 2) Fg "
(3) oo, fa @) o, e
Who are not players ?
(1) Akash, Bhushan (2) Chandra, Dhanesh
(3) Bhushan, Viresh (4) Viresh, Akash

196. TEleen! v Ifgam ”ia ?

1) "9, faw@ (2)  STHR, T

(3)  *qoT, =g (4) ¥, SR

Who of following are not clever ?

(1) Dhanesh, Viresh (2) Akash, Bhushan
(3) Bhushan, Chandra (4) Chandra, Akash

197. T et AT SR <faora 8 . fieft. Ao 6 M. 7o eft. de Swa 5 . S, Jed gl
9 9 HieX Iel. G Il SRS 5 Teter S Aidel. T @Al SuRy o1 fhdl Siaer
e ?

1) 33 . () 17 4. (3) 23 (4) 28 .

A person walked 8 m. towards south from his house. Again turned and walked 6 m.
towards east. Again turned and walked 5 m. towards north. Again turned and walked
9 m. towards east. Again turned and walked 5 m. towards south and stopped. How
apart he is from his house ?

(1) 33 m. @) 17 m. 3) 23 m. (4) 28 m.

el ShIATHTS! ST / SPACE FOR ROUGH WORK
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198. ¥Teer= At SHIoT 3nepelt 4de ?

VNE
1) é (2) E:’ ©) @ (4) w

Which figure will be in the place of question mark ?

then 4@ 7
1) é (2) E (3) ‘ig (4) w

199. 1 TERET YEHAR 3. T TTH Tui<Al 8 Tl hival aR T8 ?

rgr

Ty
JITTITITT]
ARLARANALY

SR

RLLRRSNNY
ARRITINNY

FEsFsssial

if

LI
FRESNRRIRI
STTISTIY

BLERRRRANY
SASSIRNY

(1) HIZAR (2) 9EUSR (3) TEAR (4) YHaR
1%t september comes on Friday. In the same year what day will be on 8th November ?
(1) Tuesday (2) Wednesday (3) Thursday (4) Friday

200. SR BAD ¥l s Ush! Hichideh YN 4 - 3 - 6 31 fafgem T INDIAN 1 915 3 YR fafgan

A¢A? ,
1) 11-16-6-11-3-16 @) 11-16-4- 10-3-16
(3) 11-15-6-11-3-16 4 11-15-5-11-3-15

In a certain code language BAD is written as 4 - 3 - 6. Then how INDIAN will be written
in the same language ?

(1) 11-16-6-11-3-16 (2) 11-16-4- 10-3-16
(3) 11-15-6-11-3-16 4 11-15-5-11-3-15
-00o0-
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